
Installation template S-7800

Side of door
Main hole

Handle shaft hole

Side of door

70mm

13
5m

m

16
m

m
18

m
m

50
m

m

68mm

55mm

70mm

32mm Hole

Folding line Folding line

24.2mm

14mm

33.7m
m

7m
m14mm

16.2m
m

176.1m
m

Mortice width
110mm

14mm

24.2mm

33
.7

m
m

7m
m

7m
m

7m
m 14mm

16
.2

m
m

17
6.

1m
m

Mortice width
110mm

FH 3/16-16 UNC(4EA) FH 3/16-16 UNC(4EA)
24.2mm 24.2mm

In
st

al
la

ti
o

n
 - e

x
p

lo
d

ed
 v

ie
w

  S
-7

80
0

Fr
on

t 
Ba

ck
 

M
or

tic
e

Br
ac

ke
t f

or
 b

ac
k 

BH
 M

5X
30

 (2
EA

)

FH
 3

/1
6-

16
 U

N
C

(2
EA

)

FH
 M

4X
10

(1
EA

)

FH
 M

4X
10

(1
EA

)

FH
 3

/1
6-

16
 U

N
C

 
(2

EA
)  

  

BH
 M

5X
30

 (2
EA

)

FH
 T

4X
19

 (1
EA

)

FH
 T

4X
19

 (2
EA

)

O
H

 M
5X

11
 (2

EA
)

BH
 M

5X
24

 (2
EA

)

In
se

rt
 h

an
dl

e 
sh

af
t 

fr
om

 o
ut

sid
e 

to
 in

sid
e

      

D
oo

r t
hi

ck
ne

ss
  4

0~
50

m
m

 : 
BH

 M
5X

30
 4

EA
 

  7
0~

80
m

m
 : 

TH
 M

5X
60

 4
EA

 
  9

0m
m

 : 
BH

 M
5X

70
 4

EA
 

Us
e 

ap
pr

op
ria

te
 s

cr
ew

s 
fo

r d
oo

r t
hi

ck
ne

ss
BH

 M
5X

24
2E

A

O
H

 M
5X

11
2E

A

FH
 M

4X
10

2E
A

FH
 3

/1
6-

16
 U

N
C

8E
A

Sc
re

w
Se

t

FH
 T

4X
19

3E
A

St
ee

l p
la

te
 to

 fa
ce

do
or

 s
ur

fa
ce

C
A

U
TI

O
N

LH/RH/LHR/RHR

Fi
x 

(4
x)

 B
H 

M
5X

30
 sc

re
w

s fi
rs

t t
he

n 
fix

 (3
x)

 F
H 

T4
X1

9 
sc

re
w

s. 
Th

e 
BH

 M
5X

30
 sc

re
w

s c
an

 b
e 

ch
an

ge
d 

ou
t t

o 
su

it 
do

or
 th

ick
ne

ss
 (s

ee
 

'S
cr

ew
 S

et
' d

iag
ra

m
).

1 2 3
1

2

3



How to install - step 1

Notice

How to install - step 2

Connect two cables to back. Open lower back cover and fix 
using  screws (upper - OH M5X11, 2EA / lower - BH M5X24, 
2EA).

9. Close back cover after installation.

  Factory setting : normal mode user PIN is:        

 

 

 

Remove screw (PH T3X8)

Move the lever towards desired direction

Fix the screw into hole below the lever

2. Push    pull direction change (back)

Refer to the table below and cut the key tail plate to the       
appropriate length. Confirm the cable is not jammed and fix 
the front and back (BH M5X30, 4EA). 

Back cabinet

Open the door 
by pushing 
or pulling 
the handle Check deadbolt and 

latch bolt are both able 
to operate freely

When you close door, it 
should lock automatically. 

 

 

 

1. Pull    push direction change (front)

Remove screw (PH T3X8)

Move the lever towards desired direction

Fix the screw into hole below the lever

Screw (PH T3x8)

Lever direction

Screw (PH T3x8)

2. Insert handle shaft into rectangular "handle shaft hole"on
installation template and adhere the template to the inside.
Fold the template along the folding line.

3. Fix the position of the template precisely and mark the 
drilling position for holes. Change direction of template and 
mark the drilling position on opposite side in same way.

Mortice lock

Inside4.Drill hole as per specification (Ø32mm).

5. Select push/pull direction before installation (refer to 
instruction of 'change push/pull direction').

6. Pull cable from the front of device through 32mm hole to 
inside of door, then through horizontal hole         on the 
bracket.

7. Pull the mortice lock cable through the vertical hole on 
the bracket. 

Outdoor Indoor
BH M5X30

2EA

BH M5X30
2EA

Change push-pull direction

• Check the lever on front and back

Lever for
direction change

Front

OH M5X11
2EA

BH M5X24
2EA

Lower back cover

Cable 
from front 

Back

Mortice lock
cable

Cable position

 1. Insert handle shaft from outside to inside through the hole
Installation method for left handed and right handed doors is the same
Before installation, adjust the direction of latch bolt and striker as per door opening direction

1. 

2.

Install mortice
Insert mortice to side of door and pull 
cable inside
Fix the plate using (4x) FH 3/16-16 UNC

Insert

FH 3/16-16 UNC  

Change latch bolt direction

1. Rotate latch bolt
2. Confirm the direction of latch bolt and

fix the plate using FH M4X10

RH LH

Note: sub bolt
located at top

Inside Outside

Outside Inside

OUT
IN

Inside hole Outside hole

Check operation of the lock
Fold 90 degrees and 
adhere to door surface

Make sure that the 
fold line is vertical

Mark drilling 
position

Hole of 
handle shaft

Key tail plate Door thickness
1 90 mm 6
2 100 mm 7
3 110 mm 8
4 120 mm 9

Door thickness
40 mm
50 mm
60 mm
70 mm
80 mm 5

1 2 3 4 5 6 7 8 9

1 2 3 4 5 6 7 8

1 2 3 4 5 6 7

1 2 3 4 5

1 2 3 4

Key tail plate
1 2 3 4 5 6

1 2 3

1 2

1

1 2 3 4 5 6

Note: Insert key shaft to hole A   

1

2

3

1

2

3

1

1

2

and fix stop ring on inside of handle shaft

Lever direction

7.

8.

After installation
Insert batteries correctly and do an open/close test from inside    
Register user PIN code as per instructions in the user manual




